
MA205 - Integral Calculus
Lesson 14: Applications I - Work

Board Problems

1. A uniform cable hangs over the edge of a cliff. The cable is 30m long and its mass is 45kg. How
much work is required to pull the entire cable to the top of the cliff?

2. A chain that weighs 2.5 pounds per foot is used to lift 600 pounds of coal up a mine shaft that is
250 feet deep. Find the work done.



3. Return to the same setting as Problem 1: A uniform cable hangs over the edge of a cliff. The cable
is 30m long and its mass is 45kg. This time, calculate how much work is required to pull one third
of the cable to the top of the cliff.


